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sorpordrk [ P FE ] kkkkkokk

No. 1 2 3 5 6 & #HIE
E F 4 CSRP GCSRP CSRP CSRP CSRP [EX v
1 N8y &3 stk dokkk kokk kol kkdkk 20 1 P
2 Bl —== xx 2 17
3 Rk RE 16 9P
4 180 AR 0 18
5 hEFE RE sokdkok ololok ook skekkk eklk 20 1 P
6 k& 3 Rokokok skkk kokkk kkkk 16 O P
12" K BX ;okokk kkkk K Kk kkkk kkkk 10 T P
8 TH % 0 18
9 £k BT * xkkk K x%x 8 14
10 BA BzbrT4q 20 1P
11 ®K&E 85k ok dokok * %6k O 12 P
12 ¥ BEER skkk kokkok kkkk kkkk kkkk 20 1 P
13 B8R EX sokkk  okok 7 15
14 4% BB sokkk kokokk kdokk kkokok kkkk 200 1 P
15 BkE  #— sokkk kkkk kk kkkk kkkk 18 8 P
16 Bl FEA skkk kokkok kkkk kkkk kkkk 20 1 P
17 ERK # sokokok x % wkk 9 12P
19 =48 g% ¥ okbokk okk ok * 11 11 P
20 A+jE = kK ok * 5 16
U= = 9
sordordork [ ZEIRAE ] skkkokkokk
No. 1 2 3 5 6 BF ¥HIE
E F 4 CSRP GSRP GSRP CSRP GSRP JIE {3z
1 INBF &3 sokkok dokkk kk ok kkkk  kkk 18 3 P
3 {RE RE $okkok sokkk kK 11 6P
S hEFE RE sofok sfokotok stofokok otk 16 5P
6 ik * ok k kkek ] ]
1#ER”RK BX 20 1P
10 BE B2 FF T 4% %k kkxk  kkk bbbk kbkk 18 3 P
11 K& &Eh 0 11
12 ¥l BEES sk kkkk kkkk kkkk kkkk 20 ] P
14 £ e * ok ** ok 6 8
15 BE #— * 1 10
16 AL A * * % 3 9
17 k="K # 0 11
19 =28 f#k 0 11
TUI=% = 1

sorkordkork [ R B ] wekkkkkk

NO. E F 4 1 2 3 5 6 B
i H Cha cha
1 INE E3t 3 4 6 4 4 40
3 FEkE =T 6 6 4 6 6 6.0
5 hEfiE RE 4 2 3 2 5 30
1 2K BX 2 3 2 5 3 20
10 BEH BzbrTqa 5 5 5 3 2 50
12 #E BEES 1 1 1 1 1 1.0
E B Samba
1 INE B3t 2 3 3 3 2 20
3 HFEkE =T 6 6 5 5 3 6.0
5 hEfE RE 4 2 4 2 6 3.0
1 2K BX 3 4 2 6 5 40
10 BEH BzbrTqa 5 5 6 4 4 50
12 e BEES 1 1 1 1 1 1.0
E B Rumba
1 INE B3t 4 3 2 4 2 20
3 HFEkE =T 6 6 4 6 6 6.0
5 hEfE RE 3 2 5 2 5 30
1 2K BX 2 5 3 3 4 40
10 BEH BzbrTqa 5 4 6 5 3 50
12 #E BEES 1 1 1 1 1 1.0



i H Paso doble

1 INF B3 3 3 5 3 2 30
3 FE =T 6 6 4 6 6 6.0
5 thEE RE 4 2 3 2 3 20
1 2K BX 2 5 2 4 4 40
10 BH Bzbr+rT4a 5 4 6 5 5 50
12 ¥\E BEER 1 1 1 1 1 1.0
E B Jive
1 INF B3 2 3 2 4 2 20
3 FE =T 5 5 4 5 6 50
5 thEE RE 4 2 5 2 3 3.0
1 2K BX 3 4 3 3 4 40
10 BH Bzbr+rTa 6 6 6 6 5 6.0
12 #¥\E BEER 1 1 1 1 1 1.0
HWEER
No. E F £ C S R P J & JE
1 INBF B3 40 2.0 2.0 3.0 2.0 13.0 2.0
3 FE =T 6.0 6.0 6.0 6.0 5.0 29.0 6.0
5 hEFE RE 3.0 3.0 3.0 2.0 3.0 140 3.0
7 tk”/K BX 20 40 40 40 40 180 4.0
10 BH BzbrT4 5,0 5.0 5.0 5.0 6.0 26.0 5.0
12 WiE BEES 1.0 1.0 1.0 1.0 1.0 50 1.0
1 S EE
2 IR A N4
3 AIIEER
5 TELpAC
6 KEBZE
sk [ ERIGHER ] kkkkkk
EESE ERBES B E F K 4 IN—kF—% B B ## C S R P J
1 11050304 A /NEF E23 feH HE B OH g2 40 20 2.0 3.0 20
2 11050222 B #E)Il —== mta #F L 1%
3 11050144 A FiE =T BE (& B H g6z 6.0 6.0 6.0 6.0 5.0
4 11020126 B IEO  fRER 1EA #BF B OH 15:&
5 11020242 A DEE RE Fith FRER B L £34 3.0 3.0 3.0 2.0 3.0
6 11032242 A {E@E 5 kg XEF BOED EEIRES
7 11030137 A 4K EBX = EARF B 446z 2.0 40 40 4.0 4.0
8 11060082 B H IR FF B OH 15:&
9 11050209 B £ MBH k% shF B A 1F:&
10 11050334 Cc EH Bz T %H FR B OE 54 50 50 50 50 6.0
11 11035331 B ®HE #5A i WPCF BB EERES
12 11040629 A #¥E FBEES Wil EBHE WL g1 1.0 1.0 1.0 1.0 1.0
13 11026668 B [&F ==k FIER RF B & 1%:&E
14 11030269 A t#& @RAZ B Dhl B O£ HE R P
15 11022241 B kA #B— =k OIEF B H HE RS
16 11060053 A (=8 MHE  fiF B OE RIS
17 11020105 B {E&<K # <K BhF B L HER P
18 11050134 A HEE HA BE ¥ B L 5
19 11020019 A =& &% KK TWHWF B R
20 11050316 B E+&E = Heh FEE B H 15:&



